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Question 1

When a pure semiconductor is heated its resistance
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Question 2

The leakage current in a pn junction is of the order of
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Question 3

The maximum efficiency of a half wave rectifier is
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Question 4

When the reverse voltage increases, the junction capacitance
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Question 5
In a transistor base current is about ............ of emitter current
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Question 6

In a practical biasing circuit the value of emitter resistance
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Question 7

The ratio of output to input impedance in a CE amplifier is
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Question 8

Which is a fixed frequency oscillator
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Question 9

Two similar 15 V Zener diode is connected in series. What is the regulated output voltage?
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Question 10



The active components in an IC’ are
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Question T1

In an OPAMP, the differential gain is
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Question 12

The binary number 10101 is equivalent decimal number
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Question 13

In Boolean Algebra A+A.B=
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Question 14

In Boolean algebra bar Indicates
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Question 15

Equivalent binary number of decimal number 23 is
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Question 16

The current gain of a common emitter
transistor amplifier is
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Question 17

A full wave rectifier is fed 60 Hz a.c
supply. The ripple frequency will be
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Question 18

The maximurm efficiency of a full wave
rectifier is
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Question 19

A transistor has an a = 0.95, then B is
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Question 20

An integrated circuit that produces an
open loop gain of 100 is to be used as the
basis of an amplifier stage having a
precise voltage gain of 20. Determine the
amount of feedback required.
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Question 21

An operational amplifier operating with
negative feedback produces an output
voltage of 2 V when supplied with an input
of 400 V. Determine the value of closed-
loop voltage gain.
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Question 22

Determine the frequency of
oscillation of a three stage ladder
network oscillator in which C = 10 nF
and R = 10 kQ.
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Question 23

In an exclusive OR gate, the output is
high:
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Question 24

Negative feedback in an amplifier:
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Question 25



In an oscillator circuit, the feedback
should be:
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Question 26

In an OPAMP, the input impedance is
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Question 27

The binary number 11111 is equivalent
decimal number
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Question 28

Ir Boolean Algebra 4 + A.B=
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Question 29

In Boolean algebra plus Indicates
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Question 30

Equivalent binary number of decimal
number 24 is
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